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Section A : (30 x 2 marks)

For each question from 1 to 30, four options are given. One of them.is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,
- 3 or 4) on the Optical Answer Sheet provided..

-

1.  The animals beiow are elassified-into twd.gro'uhs,‘x- and'Y:

) Animals
Group X Group Y
butterfly penguin tilapia platypus - whale
* grasshopper chicken goldfish spiny anteater giraffe

Based on the information given above, the animals in Groups X and Y
have been classified according to- ) -

(1) their body coverings
(2)  the way they breathe

(3) theway they reproduce

(4)  the type of food they eat




2. Study the ¢lassification chart on some materiais:

' LMateriaI 4\

Metals

- Group P

Alron
Nickel

Which one of the following sets has th
Rand S? :

e

Group Q

 Silver
Copper

I

L Non—metais

B —
Group R .Group DS}
"Carboh Plastic
Salt water Rubber

I —

e correct headings for'groups P, Q,

2 2 e o i s e
1) Dull metal Shiny metal Natural
(2) Natural Man-made Good Poor conductor
conductor of of heat
_ heat .
(3). Magnetic Non-magnetic | Conductor of Insulator of
' electricity electricity
(4) Good Poor conductor { Conductor of Insulator of
- conductor of of heat electricity electricity
heat '




An-experiment was carried out to study how different types. of materials, R,
"3, T and U used-to-make windows can affect the temperature inside a-
hoeuse. : ’ :

. The temperature of the.éir inside the housé was measured over a period-
of ime Ina day'when each typeé of material was used for the windows.
The results:-were tabulatéd/as shown below: A

Temperature of the air inside the house
. . at the following time of the day (°C)
Material used | 8.00 a.m. 12 p.m. 4 p.m.
R 23 - 31 27
S 22 25 ' 22
T 23 ' 29 26
u 22 30 28

Which one of the following materials would be most suitable for mékingf
the windows of the house during winter?

(1) R
(2» s
@ T

U

(4)




4. The life cycle of a bed bug takes between ‘5 weeks to 4 months -to’
complete. The diagram below shows the development of a bed bug:fromr
san egg to an adult.

i At P et

Life Cycle of
the Bed Bug

ket gtk ikomrd

SRl L

How many $tages-are there in thelife.cycle of a bedbug?

(1)

(2)
C)

@ .

~N g AW



The diagram below shows a plant cell’

chloroplast

cell membrane

cell wall vacuole

nucleus

At which plgnt part can the above cell be found?

(1)  Tree bark

(2) Leafblade .

(3)  Onion bulb

(4)  African tulip fruit

The table below shows the different cell parts of 4 types of cells, A, B, C,
and D: The tick (¥) indicates the cell parts+hat can be found in each cell..

Cell parts A B | © D
- Cell wall v ‘ i

Nudleus + : v ~
Chioroplast | =+

Which one of the following best represents cells, A, B, C and D?

animal skin cell. root cell red bloodcell actus stem
' cell
(2} ! cactus stem red blood cell rootcell | cheek cell
“cell
(3) | hydrilla leaf celi roof cell red blood-cell theek C_éll
(4)] cactus stem arj_imal skincell |  onion cell root cell
' celi .




Janissa left a beaker of boiling water on thetable {o cool: She recorded-
the-temperature of the water in the beaker at regular intefvals.

Which one of the graphs shown below rep,résen‘ts correctly the change in
the temperature of the water in the beaker?

-
s

(1) Temperature (°C). - (2), Temperature (°C)}
A i A

100 - 100

oL » Time (min) 0 : — Time {(min)
(3) Temperature (°C) (4) Temperature (°C)
; CA T ) ; 1L
100} - 100

—» Time (min) 0 » Time (min)



8.-

The diagram below shows:how fertilisation takes place between the male’
parent and the female parent in animal reproduction.

Male parent

has reproductive

organs called [

has reproductive -

Female parent -organs called [y

sperm
Y +

What are Wl, X, Y and Z?

€99

y4

which SPErm
prodqces , Y
which €99
produces . i

becomes

— embryo




9. The diagram below shotis parts of the human digestive system.

Which one of the following sets-of information’ correctly compares the
_changes in the amount of digested food in parts A, B, C and D?

(1}] No change Increases 1 Increases | Decreases
2) Increases No changé Increases . Increases;
3) Y Increases No change - Increases Decreaéesi
#| -No chéﬁge No change i Increases " Increases.




10.  Study the diagrams of the fouii'set-ups, G, H, & and: K below:.

S .
N T
- | - S |
S .
SIN N o Set-up H
Set-up G
Bk N
X ‘
S
: S
S
Set-up J : ~ Set-up K

If bar ‘magnets are used in setups G, Hand K while ring magriets’are
used:in set-up J; which of the above arrangements will be possible?

(1) GandHonly

(2) Jand Konly
(3): GandJonly -.
(4) HandKonly '

S10-




11. Amos conducted an experiment with 4 identical nails' to find out/ if the
number of strokes made by a magnet would affect their magnetic strength.
He stroked each nail with'a magnet in the same directionas shown below.

He counted the number of times he stroked each nail withithe magnet. He
then tested each magnetised nail by. holding "it close to~some’ pins. He
counted the number of pins aftracted to each .magnetised nail and
represented his results in the graph below.

Number of pins attracted by '
magnetizejd pail Key:
. k
45 L R Naii P
-.',i it Nail Q
12 + S i) Naill R
g9 + Ej::'e%i Eq Nail S
61 i
.
28 .y Number of strokes

10 20 30 40
P 3 RrR S -

_ From the graph above, which ene of the following statements istrue?

1)
(2)

(3).

(4)

A nail can become a temporary magriet after stroking it with a
magnet 10 times. - .
Nail S has become the strongest magnet after stroking it 40 times
with a magnet. N

The number of pins attracted by the magnetised nail increases ata
constant rate. T

The number of pins picked up by a magnetised nail is always
dependent on the number. of times the nail was stroked with .a
magnet. :

_11-



' ' . freezing
12.  The table below shows the boiling-an

ckmelting:points, of 3 substances, Xy
X andZ:- ' .
Substances X Y Z
Boiling Point (°C) 19 110 72
Freezing Point (°C) 5 .38 13
State 4t room température (26 °C) ? ? 2

Whét is the state of the substances, X, Y and Z at r00m'temperath|re?

@1 Giqud solid gas
(3) gas solid liquid
{4) solid gas liquid

_12.




13. The experiﬁient shown below was carried out in a dark room. .Objects A,
t B has a haleinit.

B-and C are’each made of a different material and objec

—(

\ screen
torch A

When the.torch was switched on, a shadow, as shown below, was formed

on the screen.

—SCreen

— .dark shadow

‘Which ene of the following cérrect!y. shows the material that each object, A,
B and C, is most likely to bg' made of?.

frosted glass ‘ trac:g | ear glass
5| clearglass wood - | clear plastic
- e T . -
| {3) 1. ‘metal clear glass frosted glass )
(4) clear plastic frosted glass | cardboard

-13-



14.

The graph below showsihmg.;.;me le,,ﬂgth e;@ﬁ;l_ouuses shadow changes- over
a petiod of time-as she walksii-a straightline near a street famp at night.

length of shadow (m)

~

I
!
1
E
2+ H
I
I 1
H 1
1 I
: 1
15 ¢ ot
1. !
! ]
{ 1
! X Y ’
| Py ;J ‘{ 5 ‘r‘

L - . ; A > time (s

Y 1 2. 3 4 5 6 )
- 'Which of the following statements are:correet?

A -Louise is walking directly below the lamp at the 4th second.

B Louise is walking-towards the famp during the period X and
away from the Iamp dlmng the period Y as shown in the
graph.

C Louise is walking at a faster speed during the period X

. compared to the péeriod Y,

‘D Louise is walking towards the lamp- dunng the period Y and
away from the famp during the period X as shown in the

. graph
('1) A and Bonly
(2) C and D only
(3) .A,BandConly
(4)

A, C and D only

-14-




15. 3 similar bottles, W, X and Y were filled to the brim with water. - The
:Qp_éning of. each -bottle’ was fitted with--a rubber stepper which had two
“holes-as shown below. '

holes - - '
. §@—' Magnified view of rubber stopper

The bottles were tilted. at __the same angle but held at different heights from
a metal box.

Which of the following stateménts are true of the ‘above experiment?

(1)
(2)
(3)

4

A Water flows out of bottles W, X and Y at the same rate. .
. Water from bottle W produced the joudest sound upon hitting
the metal box. '

of kinetic energy -at point Z.

Water from bottles W, X and Y. .possessed gravitational
potential ‘energy and kinetic energy when the bottles were
tilted. i ‘ :

B
c Water from bottles W, X and Y'po_ssessed the same amount
D

Aand Donly .

. B and C only

B, C and D only
A, B and D only

-15-



16.°

Mei Yin gonducted an experiment WIth 4 balls, J, K, L and M:which are
made. from different materidls. She. released each balt from the same
height” and allowed it to bounce off the ground. - She measured the

‘bouncing height of each. ball- during its first bounce” and presented her:

results in the bar graph as shown below

Bouncing height of ball dunng its
f‘ rst bounce:
: A

. - Ball
J K L M

Based on the bar graph, what can Mei Yin infer from the results?

A . Ball J would come to a complete stop first.

B ‘Ball M bounced the least number of times.

C Ball L had more kinetic energy than ball K after they hit the
ground.

D The balls had different amounts of chemical potentlal energy
at the pomt of release.

(1) - Bonly

(2) BandDonly
(3) AandConly
(4) ~ AandDonly

_16-




17.

Bee Eng_ set.up an e)gpe;r_iment to study the energy changes which took
place-when an object was moving.

marble

—_— —

Ramp X

Ramp Y ] Block Z

She released a marble from the top of ramp X It rolled downwards and
along the floor. before it travelled up ramp Y and rolied .down again. It hit

against metal block Z and stopped moving. |

Which of the following statements are true of the above éxperiment?

(1

(2)
(3)
(4

A

B
C
D

When the marble was released, it lost its potential energy.
When the marble was travelling up ramp Y, kinetic energy
was converted to potential energy-

When the marble hit the metal block Z, some of its energy

was converted to heat and sound energy.

When the marble was moving ateng the floor, some of its

- energy was converted to kinetic energy.

- A-and-D only
BandConly .
A, B and C only-
B, C.and D only

17-



18. The diagram— below shows a weight being hung from a spring whose
original length was 5cm. :

"Spring -

The table below shows the extension of the-spring when different weights
were.hung from it. : )

Weight {(g) Extension of the spring (cm)
100 ; 3
200 6
250 7.5
350 - - 10.5

What would the weight of a dictionary be if the length of the- spfing was
A7cm when the dictionary was hung on it?

(1). 3509
(2) 400g
(3) 4509
(4) 5509

-18-




19. DBuring a Science lesson, the teacher told.4-pupils to givé examples of”
forces at work. The table below shows the responses from the 4 pupils.

Pupils Exam',ples:'- of fo rces at work...

Susan Stretching a chest expander

Carrie Raindrops falling from the sky

‘Robin A cruise ship:sailing in the sea
| iMike A soccer ball. coming to a stop

Which: pipits have given the correct examples of forces at work?

(1) - Susan and Carrie only

(2) Susan, Carrie and Mike.only
(3) Carrie, Robin and Mike only
(4) Susan, Carrie, Robin and Mike

. 20. A wooden crate was tied with a rope‘ and pulled across-the floor as shown
in the diagram below.

tC A
- b —— . —
A lo B

Which of the arrows (A, B, C or D} correctly represent the directions that
frictional force and gravitational force acton the crate? -

_19-



21,

“below.

Shinee set up an experiment as shown below.

wooden b!ock, :\3)

spring balapce

material P

— table

1 . , 1]
Shinee used a spring balance to find out the force needed to pull a
wooden block across 4- different materials, P, Q, R and S. He started off

with material P before subsequently replacing it with materials, Q,Rand S,
‘one at a time. ' '

He then presented his results in the table below.

Material | P T Q T R S
Force 203 186 - 145 167 -
required (g) ' i

Shinee wanted to use a suitable material to place on the surface of a ramp
50 that he could load his cartons up to his vehicle more easily as shown

box rarﬁp

¥

Based on his experimental results, which material would- Shinee not
choose to place on the surface of the ramp? - -

(1) P
2 Q
(3 R
4 s

-20-




22,

23.

-(2)

The table below shows some animals and their habitats.

Habitat B - Animals
A whale, jellyfish, dolphin
B grasshopper, butterfly, snail
C - earthworm, millipede, wood louse
D tadpole; water beetle, guppy

In-which one of these habitats wouf_d you most likely to find the dragonfly.
nymph? -

(1 A
@2) - B
3 ©C
4 D

Geri was 'takin_g a walk in his gatden when he spotted some organisms.
He then classified-them.into.two groups, plants and animals-. - s

Plants . -Animals
3 orchid plants E 3 caterpillars
2 rambutan trees : 1 squirtel
4 bird’s nest ferns - .3 sparmrows.
: - 7 butterflies -
2 aphids

How rﬁény populations had he spdﬁed.ualtog.ethe,r?
(1)

@) .
(4)

G~ W,

_21-



24.

....

ducted. an experiment. using seme-similar seedlings. over a

period of two weeks.. The table below shows details of his experimenf.

AVerage. height .

Pot | Type of soil | Amount of water | N umber of
‘ used daily.(cmj”) ' seedlings of the seedlings
- plantedin | in each pot after
: _ each pot " 2 weeks {cm)
s Clayey soil 100 15 4
T | Loamy soil 200 23 85
U | Claysy soi 100 23 6.5
A Loamy soil 100 15 5

Which of .the following are possible aims of Thomas’ experiment?--

A

B

C

To find out if overcrowding affects the average height-of the

seedlings
To find out if different

héight of the seedlings _ .
To find out if different amourits of water used daily affect the
average height of the seedlings -

M) AandC only

2) AandB oniy
(3) BandConly
4) A,BandC

types of soil used affect the average




25. A study was conducted by a group of researchers on 2 types of animals,
G-and H, T a communitys <

They recorded the:number of each type of animals every year for S-yearé-w
The results are shown in the graph below. '

il

130 T
160 T
140 T
120 1
100 T
80 1
60 T .
40 1 Animal H ™
20
0 i i t — =
2006 2007 2008 2009 . 2010
Year '

Animal G

Number of animals

" Based on the information above, the group of researchers made the
following statements: '

The number of G increased at a faster rate than the
number of H between year 2006 and 2008.
B The number of G and H was the highest in year
2008. ) -

C The sudden drop-in fhe riumber of G and Hin 2009
could be due to the introduction of a prey into the |
community. ' i

D - The fall in the number-of G and H from 2008 to
:2010 could be due to G preying on H.

W'hic'h of the researchers have made the eorrect statements?

(1) AandBonly
(2) CandDonly
(3) BandConly
(4) A, BandDonly

23 -



26.

The food chairis below show the food: re!attonships belween the. tadpoles
and other organisms inthe pond.

/Tilapia

Plant — Tadpole .-

The graph below shows the change in the frog population in the same
pond after some time.

> Water beetle

Dragonfly nymph

Number of frogs 4

» Number of wée_ks

What are the poessible causes for the change in the population of frogs as
shown in the graph above?

A An increase in the number of dragonfly nymphs.
B A decrease in the number of tilapias in the pond.
C An increase in the amount of pollutants in the pond
D An outbreak of a disease affecting the water beetles only.

(1) AandB only
(2) AandConly
(3) BandDonly
(4) CandDonly:

- 24 -




Q, R, S and T are 4 populations of organisms in a food chain.

3 populations of organisms, Q, R and S-were put together in-an enclosure .
for a few days. Graph A shows the changes in their population after a
few days. ‘ :

Graj:_)"ﬁ' A
Number of A
organisms
Q
R
S

» Number of days

Graph B below shows the changes in the number of organisms Q, R and
T when-they were put together in a.similar enclosure for a few days.

) Graph B
Number of 1\
organisms
T
Q
R

— Number of days

Based on the above graphs, which one of the following correcily describes
organisms Q, R, S and T? ' : :

(1) Q

(2) R T Q S
3 S R T Q
) T Q - S R

25



28.  Which one of the following food webs is correct?

(1) | plant PR plant
caterpillar cow  deer caterpillar deér*—-— cow
hen\ e lion hen lio —™an

N~

A(3) plant (4) plant

LN

‘hen «— caterpillar—» deer

I

. \ Iicn/man

~26-




29.  Study the food we@ below.

ash S kingfisher
\waté.r«_p{ant ———> shrimp — snakehead

/"_

V tadpole ———» dragonfly nymph

‘Which of the following statements about the food web isfare true?

(1)
A2)
#43)
<44)

A There are 5 food chains in this food web.

B The sun is the main source of energy for this food web..

C . Energy from the shrimp-is totaily passed on to the kingfisher.

D. “The shrimp, dragonfly nymph and fish are both a prey and a
predator

B only

Aand Bonly .

A and D only

B, C and D only

27 -



30.  Jean wants to firid out if the arrangement . of bulbs. would -affect the.
brightness of the bulbs. ‘

QED T . . C%?*

| | “

Set-up X _ Set-up Y

MWhich two set-ups should she use to ensure afair test, assuming that all
the bulbs are similar and the batteries are of equal voltage?

#1) SetupsVandW
H2) -SetupsVandX
{3) SetupsWandyY
{(4) - SetupsXandY

(FERRX END OF SECTION A ¥*%*%

-28 -
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" Section B: 40 marks
For questions 31 to 44, write your apswers in this booklet.

The number of marks available is shown in the brackets [ ]atthe end of .
each:question or part question. - '

31.  Three-plants, X, Y-and-Zarefound along a riv'erubank' as shown in Figure -
1 below. T

Figure 1 ‘

‘A year later, the locations of the fydﬁng. plants, X, y and z, in relation fo
their parent plasts are as shown in Figure 2 below. .

Fig ure 2




(a)

. (b)

Based on. the location of the young plants shown in Figure 2,
suggest the method of dispersal for eagh of the fruit of the follewing

plants in the table below. [1%4]

Fruits of plant | - Method of dispersal

X

Y

i

ts that enable them

What are the physical characteristics of the frui
[17] -

to be dispersed by the methods mentioned above?

~ Fruits of plant

Physical Charactetistics

X

Y




32.  Michelle is shown a picture feéturing two flowers, R and S, as shown
below. ' ' '

Flower R ' ' Flower S

(@) Name the flower parts labelled “M™ and ;‘N?'._ {1]
. Flower part ' Name |
M
N

(b) Michelle said that Flower Sis wind—.pbl[iriated but her teacher told
her that she is wrong. Give two reasons why Michelle’s teacher told
‘her so. : : : . [2]

(i)
(i) f




. 33. Hao Yao had a pot of plant with leaves that are green in the cenire but
white around the edges. He cut rings of different thickness of the bark
. around the stem at points X and.Y as shown below.

X Both the xylem and
phloem removed

r £00d
]:Y: Only the phloem is
removed '

- He watered the plant daily.and kept it in the.dark for 2 days. Both leaf A
and leaf B were partly covered with black paper on both sides of the {eaf
as shown below. The plant was then placed under bright light.for 12 hours.

“green area of leaf



A

- After- 12 hours, leaf A and leaf B were tested: for starch using -iodine
solution. Shade the part(s) that Hao: Yao would obseive” tuming{ibdin‘e
solution dark biue. + . _ : ; _ S 4




34.

As Aaron was driving to work in the moming, he turned on the air-
conditioner in his car. After a while, he noticed that the windows of his car
had become misty. : - '

Temperature of the
Temperature in the i surrounding air
car was 18°C ~ was 26°C

(a) On which surface (interior or exterior) of the windscreen would
Aaron find the mist? Explain your answer. 21 -

"{p)  Would Aaron make the same observatiosi if the temperature of the

surrounding is 34°C? Give.a reason for your answer. k)




35.  Weixiang was given a circuit card as shown below with paper clips, A, B,
C, D and E attached to it. The back of the circuit card which was sealed
was connected using wires.

paper clip

Circuit card ' Circuit tester -

He used a circuit tester to test the card and tabulated his results as showrr
in the table below.

Testirig points Bell sounded?
-~ AandB : Yes:
AandD ‘ Yes
Aand C . No
Band E Yes
B and D Yes
Band C " No
Cand E No
Cand D - No
Dand E . . Yes

Indicate on the diagram below, by drawing only 3 straight lines, to show how the
wires in the circuit card are connected. ] [1%4]




36. R'obby set up the experiment shown below. He measured the
‘ temperature of liquid Z just before closing the circuit. He then -measured
the temperature-of liquid 7 at every 5 minute interval for the next half an

hour.

-
K

battery

nichrome wire

witch

' L jiavid 2
(@) Whatwould happen to thew:ater- at the end of haif an-hour? [11

(b Wiite down the-energy conversion for the above experiment. M

(c) Robby wanted to increase the temperature of the same amaunt of
liquid Z within a shorter time period. List down two ways in which

he could do so. j A




37. Met Feng had two |dentlcal containers, R and ;. of equal capaCIty of
3500cm® each. She placed them on a balance as shown in the diagram
below.

| 3500cm®of -~ | 3500cm® of
air | oair '

(a) In the space below, draw and labef what Mei Feng would cbserve
of the balance and the containers when she pumped in another
1000¢m?® of air into container S. [1]

(b) What would the volume of airin S be. after Mel Feng had pumped in

the 1000cm? of air into the container S? Explairi your answer.

2r

_(0) State one similarity between a liquid and a gas. 1]

-10;




38.

blackened
glass flask

.\'

tripod stand

shiny T
I |

wak

‘Set-up 1 Setu P2

The initial temperatures of the water in both flasks were taken. The set-
ups were then left in the sun for an hour. The temperature of the water
‘was then measured again and recorded in the table as shown below.

Initial t’emﬁperature (°C) | Final temperature (°C)
Setup 1- 26 ' T 60
Setup 2 26 _ 87
{a) Whatwas the aim of Geri's experiment? . 13

(b) Why v_va_s-theré a difference in the final temperature of the water in
- thetwoflasks? . . - .. . 11

I
]

(© Why do you think Geri Uséd the shiny wois? [1]




39.  Jean hung a steel ball at the edge of the table as shown.below.

stretched : :
elastic band X ™.

/ Y |heightof the
' swing

_____ R .
steel ball

starting  table top
point A

She stretched an elastic band X and placed a marble against it. S He
released the marble to"hit the steel ball, causing the steel ball to swing
upwards.

Jean repeated the experiment with 2 other types of elastic bands, Y and Z,
_one at a time. She recorded the height of the swing reached by the steel
ball when it swung away from the edge of the table -and presented her
sresults in the table as shown. '

(a)

(b)

(¢)

Elasticband | X Y Z
Height of the 12 18 g
swing (cm)

Based on the resuits above, which elastic band, X, Y orZ, has the
least elastic potential energy? Give a reason for youranswer.  [1],

! - . o ‘
Why. do you think Jean has indicated the starting peint A on the
table top? ‘ ' _ !

Write down the energy conversion for the above é)%pen‘ment. |




40. - Royston carried out an experiment with a bottle of sunblock lotion and a
paper cup as shown below. The bottle can hold a maximum of 50g of
sunblock fotion. '

inverted
paper cup

bottle o'f_(siln block lotion

floor

 Before carrying out the experiment, Royston would hold the bottle upright

to allow all the lotion to settle at the bottom' of the bottle. He then

squeezed the upper part of the bottle with the mouth of the bottie facing

the paper cup. He observed that the paper cup moved across the floor

and no lotion spilt out of the bottle. He repeated this experiment with

- different amounts of sunblock lotion in the botile and tabulated his results
as shown below. '

Amount of sunbloek lotion (g) |- Distance moved by paper cup (cm)
' 40 . . 0.2
30 ) , 2.8
. 20 : ‘ 54
10 8.8

(a) Whatis the relationship between @olume of air in the bottl¢ and
the distance moved by the paper cup? N

(b)  Suggest a reason why Royston allowed all the lotion te settle at the
bottom of the bottle before carrying out the experiment. - 11

_13-




41.  Ahair dryer was used to blow a balloon which remained suspended in the

air

‘as shown below.

bailoon

L fuler

hair dryer

VA S LAAS LTSI SLS S LSAS S LSS LIS LLLLSSL LSS LSS IS TS SIS SIS AL SIS SIS LS IS TS

The height of the balloon from the ground was measured and the results
were recorded as shown below.

Height of balloon (cm) |- 1% 2nd 3¢ Average
‘ reading reading reading reading

-} Speed of hair dryer ‘
4 Low ° 28| 30 29 - 29
Medium 37 39 1. M4 39
Ei High 46 44 48 46
{a) . What.is the relationship between the speed of the hau’ dryer and
) 'the height of the balioon? _ (1]
fz
(b)  Why was the experiment repeated three times? [1]
{c)  When the balloon was biown 'ét Idw sbeed for’ 5 minutes, it burst.

Suggest a reason why this is so. . - 1]

-14-




42.

The following bar graphs. show the Compoéition of organisms found in a
leaf litter community and a rotting log community.

Number of organisms

present (%)

50 -
40
30 T
20

10 +

X

7.

N

L

Key:

Leaf litter
community

—____ Rotting log

c_ommunity
N\ |
=N N,

centipede  snail

millipede  woodlice spider * others

»”

Type of O'rgahisms

Put a tick (¥) in the appropriate boxes to indicate whether each of the

' _stat(laments is

“True”, “False” or "Not possible to tell”.

2

Statements

True

False

Not_
. possible
to tell

@

The number of centipedes
in both the leaf litter and
rotting log community are
the same

1®

In the leaf litter
community, the
percentage of centipedes
is lower than that of the -
millipedes. -

;(C)

‘There are onty 6 animal ;
populations in the rofting
log community. '

@

There are more types of’
organisms in the rotling

{ fog community than the
|eaf litter community.
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'43,. The food web below shows seven populations of organisms living in a
community.- :

G e
E |

~

{a) Beis._e’d only on the food web above, fill in the table below with the

appropriate letters, A, B, C, D, E, F and G. ‘ [2]
‘ Type of organism Letter {s)
(i) Food producer :
(i) | Herbivore ;
@i I °  Carmnivore ]

(iv) Omnivore

{b)  Using the following information, add in Organism H in the food web
above. . . -: ¥l

({i)- “Organism H is an omnivore. :
(i) When the population of Organism .H increases, the
population of Organism B decreases. _
(ili) When -the population of Organism H decreases, the
- populations of Organism A and C increase.

-16-




44.  The food web below shows a field community.

sSnake

N—

spider lizard smalt bird "

"snail scaterpillar® slug,

N

lantana shrub weed

grasshopper
gras

(a)  List the food sources of the lizard. [1]

(b}  Write down a food chain that involves only 4 organisms. 111

{c} A large amount of pesticides was sprayed by the National
) Environment Agency to control the populations of pests that are
destroying the plants. Will the eagle population be affected by the
pesticides? Explain your answer. ) - [1}

End of Paper
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EXAM PAPER 2010

SCHOOL : CHIJ PRIMARY
SUBJECT : PRIMARY 6 SCIENCE

TERM . : SA1
01 [ 2 [ 3[04 [ 0510607 [08] 00 [Qioloil]o Qi3] 014[ Q15| Q16 [ 017
3] 3{2l1j 21212212313l 2111aT1l2

Q18] Q19020 Q21 ] Q22 Q23] Q24 Q25[ Q26 | 027 [ 028 Q29[ Q30

2 4 3 1 4 2 2 1 3 3 4 1 2

31)a) a ) .
Fruits of plant Method of dispersal
X Explosive action
Y 1 _ dispersed by water
AR dispersed by animal
b) | Fruit of plant Physical Characteristics
X dry fruit wall '
Y | have a fibrous husk that float
V4 have bright colour and hook to
cling on animal
32)a)| Flower part Name
M stigma
N anther

b)i)Flower S has large colourful petal that is used to attract insect.
ii)Flower S has large colourful petals to attract insect.
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33)

34)a)Exterior warm water vapour from the surrounding air condenses on the
cool surface of the glass and to from tiny droplet.

b)No. The window surface will be too hot for the water vapour to
condense on them. ' '

35)

36)a)The temperature of liquid Z vﬁillqincrease.
b)Chemical potential energy-> Electrical energy—> Heat energy.
c)Robby can add more batteries and add salt into fiquid Z.

37)a)

e e e e e 2 o et e

b)3500cms. Air can be compressed,
c)Both of it does not have definite shape.

page-2




38)a)Geri's aim of experiment is to find out whether the colour of the flask
affect the temperature of water.

b)Biack colour absorb more heat, thus heating the water to a higher
temperature.

c)The spin works reflect the light to the flask enabling the water to be
heated up faster.

39)a)Z. 1t cause the height of the swing to swing the lowest.
b)His make a indication is to make that experiment a fair test.
- c)Elastic potential energy~>kinetic energy (+ sound) >gravitational
potential energy.

40)a)As the volume of air in the bottle Increases, the distance moved by the
paper cup also increases.

b)This allowed air to occupy the upper portion of the bottle enabling him to
carry out the experiment more accurately.

41)a)The relationship is that the higher speed it has, the higher the balicon
will be blown up.

b)This is to ensure a more reliable resuit.

c)The intense heat caused the air in the balfoon to expand, causing the
balloon to burst. Intense heat cause balloon to burst.

42)a)Not b)T c)Not )T

43)a)i)B,F * iDACE iii)D iv)G
b) | / A
HA \
B |—m ! G .
/ / . :
. - /
D

44)a)Snail, caterpillar and slug.

b)Lantana—>snail->large bird>eagle

c)Yes. They will get poisoned too when they consume the organism that
have consumed poisoned insect.
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